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1. ABC Company's total stockholders' cquity at the beginning of the year was $200,000. During S35 2ol ey peuct smiaecotes st T ooy e
the year ABC reported the following: Net loss of $30,000. Stock issued in exchange for
land totaling $80,000. Collcctions of accounts receivable $40,000. Dividends declared and

paid totaling $2,000. What is ABC's total stockholders' equity at the end of the year?
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3. D-Car Corp. is a car dealership. It has provided the following information:
Cash sales totaled $125,000.
Credit sales totaled $279.000.
Cash collections from customers for services yet to be provided totaled $38,000.
An $11,000 gain from the sale of display equipment occurred.
Interest income totaled $7,700.
How much of these items should be included in operating income? (Le., How mu a 1 v nue
should be reported for the period?)
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$248,000 $200,000 - $30,000 + $80,000 - $2,000 = $248,000
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7. On January 1, 20X1, WS Inc. purchased a machine costing $40,000. The company also paid
$1,000 for transportation and installation. The expected useful life of the machine is 6 years
and the residual value is $5,000. How much is the annual depreciation expense assuming use
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$415,000 Operating revenues = $415,000 = $125,000 + $279,000 + $11,000.
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9. A company borrowed $25,000 cash on October 1, 20X4, and signed a nine-month, interest-
bearing note payable with interest payable at maturity. Interest rate will be calculated at an

X1A

$6,000 epreciation expense = (40,000 + $1,000 - $5,000) /6 = $6,000
(The $1,000 paid e transportation is part of the asset’s purchase cost.) R
L ——

annual percentage rate of 6%, applicd on monthly at the rate of 0.5% per month. Show the
amount of accrued interest payable to be reported on the December 31, 20X4 balan < stcet.
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$375

December 31, 20X4 accrued interest payable will be for three months of interest for the year.
Hence, accrued interest payable = Amount borrowed x 3 months x Monthly interest rate =
$25,000 x 3 x 0.5% = $375

s s
o s
2 S

s smo s 6
oo sias im0 St 5200 .

11. On January 1, 20X1, the stockholders’ equity section of GG Ct balance sheet
reported the following:
|Common stock, par $10, authorized 100,000 shares,
issued 10,000 shares $100,000 N2
|Additional paid-in capital 50,000 Q1 1 A
Retained earnings 160,000
Stock Dividend Dividend
During 20X1, the following selected transactions occurred (assume they occurre| " Stock Dividend Accounting - Large Stock Dividend
order given): 25% of at their 1
far GG Corporation
[April 1 [Issucd a 10% stock dividend when the market price was $12 5: ndi Sm“hﬂl“m‘]’)ﬂl““by (P;lm'z':" ,?1’“““ Sheet) e por value and reducereained eamings by that amount.
- ecember
May 1 200 shares of treasury stock were purchased at $11 per share| Note: This is a “small stock dividend” (New shares < 20-25% of outstanding) o 1ock. par $10; authorized 100,000 & 1000 B: par outstanding,
- — 5 mmon stock, par $10; authorizs ares; issue Fovie -f ks
Sept. 1 Decl.ared and paid a cash dividend of $19,800. Aaptssty g shares; 10,800 shares $110,0] ’
Dec. 31 |Net income was $30,000. |Additional paid-in capital 52,0|  No.of ew sares isued = 600,000 shares — 20005 205
D Retsined amings (SE) 56000000 = 2000 30 ket i . - Accounting:
Prepare the stockholders' equity section of the balance sheet as of December 31, c 200000 = Retained camings 1582 D w0 e
L $5800000 . ILess: Treasury stock, 200 shares (at cost) 2.2 . Common stockat par (45 s600000
Total stockholders” equity $3180) B
Retained earnings = $160,000 — $19,800 — (1,000 shares x $12) + $30,000 = $158,200
e 4A
1 SET “’2“‘”” “:.L“‘w.":i".:wm_.mmmwm. Recording the Sale of PPE and the Gain/Loss on Sale E9-1C Liabiliti
s mxnmanm—uunm equipment during the year. ‘urrent Liabilities
’ e e W Acar with an acquisition cost of $41,000 and accumulated depreciation of $20,000 oo -
coplores SO ds e is sold for $27,000 cash. Give the journal entry to record the sale and gain/loss. D Sties Identify all current liabilities in the balance sheet excerpt below.
' Dz Cash (&) ) 527, iy s
Dr. Accumulated depreciation (XA, A) szo.ooou Jrr— e T S 560001 14000+ 3000 7000 47000
8 pen M URCH ) 1000 e o Aoep— e
Cr. Gain on sale of asset (+R, +SE) $6,000 (AN st e R - H3000£120004 0 SSHEEE0
e s - Accounts payable. 6000 CA= Total asscts — Noncurrent assets
If itis  loss, make a debit entry, e.g., if car is sold for $14,000: T b Icome wes payable ey = $530,000 - $362.000 = $168,000
O, Dr. Cash (&) 514,000 [ ——— el Lty o ibhdin s oo .
Roeteet— Dr. Accumulated depreciation (-XA, A) 520,000 frovony diam o pai gl 15 youe) 0om $165000-S102:400 = 65,600
S o500 St i e e s 500 - . T pme ot Woges oy 700 —
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capital (CC) + Retained carnings (RE) |

| Assets (A) = Liabilities (L) + Stockholders’ equity (SE)

o e e P o

| ers’ equity = C

[RE (ending) = RE (beginning) + Net Income — Dividends |

[Net income = Revenue — Expenses + Gains - Losses |
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3.3 Expense Recogrition Examples (Continued) . 2
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2. Superior has provided the following information for its recent year of operation: The B it i . ¥
common stock account balance at the beginning of the year was $20,000 and the year-end Shm I it
‘balance was $25,000. The additional paid-in capital account balance increased $2,500 during . . .
the year. The retained earnings balance at the beginning of the year was $75,000 and the E1-13 Retained Earnings Review
year-end balance was $91,000. Net income was $26,000. How much were Superixr's
dividend declarations during its recent year of operation? Plummer Stonework Corporation was organized on January 1, 2022. (CS and RE were zero on that
date.) For it first two years of operations, the company reported the following:
Net income for 2022 $31,000 Nt income for 2023 542,000
[ Dividends for 2022 $14200  Dividends for 2023 18700
o]l ] Common stock, end of 2022 $100,000  Common stock, end of 2023 $100,000
E Calculate the company’s total stockholders” equity at the end of 2023, (Note: To answer this, you
will need to first calculate the retained earnings at the end of 2023.)
Solution strategy: 1) Calculate the RE at the end of 2022. 3) Use it to calculate the RE at the end "..:‘..':T.‘.‘E
0f2023. 3) Add up the 2023 CS of $100,000 and the RE computed in step 2 to get otal SE.
- 5 T— om0 1. RE at the end 0f 2022 = 0 (RE, beg.) +$31,000 (NI)- $14,200 (dividend) = $16,800
4. ;'f: ﬁ}’;‘}?‘“g information has been provided by FG Company for the year ended December S i 2R ot the o of 2023 = 16,800 (R, bog) + 542,000 (NG $18.700 vk = 40100
Net income was $71,000; ﬁm.::,.. e h 3. Total stockholders’ equity at the end of 2023 = $100,000 (CS) + $40,100 (RE) = $140,100
Income tax expense was $47,000; bt "
Dividends declared and paid totaled $7,500; 3ol e o

P o ey v i ey e i i 3y
Interest cxpense was $8,700; bl i s

Loss on sale of plant asscts was $15,000 (this is treated as operating income);
Operating expenses for rent, wages, and insurance totaled $91,000;

Cash collected from customers was $220,000.

Calculate Flatiron's operating income.

6. Below are four transactions that were completed during 20X7 by Slumber Lodge. The annual
accounting period ends on December 31. Each transaction will require an adjusting entry at
December 31, 20X7.

. On July 1, 20X7, the company paid $8,000 for a two-year insurance premium for a policy

on its facilities.

On December 31, 20X7, a tenant renting some storage space from the compan; hd aot

paid the rent of $750 for December.

On September 1, 20X7, the company borrowed $25,000 cash and gave a one-year, 6

percent, note payable. The interest is payable on the note's duc date of August 31, 20X8.

On October 1, 20X7, the company collected $10,000 from a tenant for two years

beginning October 1, 20X7, and recorded it as Unearned rent revenue.
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Dividends on Preferred Stock - Example

percent (81 00Ahare), 20,000 sare. 2 Common tock: S0.01pa, 50000 shares.

For each of the above transaction, prepare the 20X7 adjusting entries required for the;
company. eha 575000

N

Annusl preferred stock dividend = $1.00 x 20,000 = §20,000
Preferred stock dividends in arrears = $20,000 x 2= $40,000

year's peferred dividend) = $15.000

Q10

10. An appliance company prepares annual financial statements and at December 31, 20X3. The
company needs to analyze the following items to determine the whether any adjusting entries
are required for the year 20X3.

1. Some employecs who worked during the year arc expected to take their camed vacation in
20X4. Compensation expense for the camed vacation is estimated to be $28,000.
2. Office rent for January, 20X4 has not yet been paid.

Q2A

2 o000 _
Ending RE ($91,000) = Beginning RE (§75,000) + Net income ($26,000) - Dividends

declared ($10,000).

s - s132000~ 500 5309 s900 - s1200
o it st 512400 300,
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E9-3 Payroll

Ouks Company's January payroll has the following data: Salaries and wages
cameds $86,000; Employe income tax withheld: $10.000; FICA payroll tax
on employer; $6,
‘What was the total abor cost for January? = $86.000 (wages)
+$6,000 (FICA employer) = 592,000
‘What s the employee take-home pay? = $86,000 (wages) - $10,000 (tax withheld)
~$6,000 (FICA employee) = $70,000
List the balance sheet liabilities (employees have been paid).
Employees’ income tax withheld and payable 510,000
Employees FICA payroll tax withheld and payable $6.000
‘Employer’s FICA payroll tax payable
Total current liabilites related to payroll

| ©

3. The company sold 3,000 coffee brewing machines for total sales of $150,0
expects that 30 machines will need warranty repairs in the next two years and
cost of repairs to be $2,400.

4. The company has been sued by a customer and assesses the probability of I

lawsuit to be reasonably possible. The estimate of the contingency loss is $20, 522,000 "

For each item listed, determine whether there should be an accrual and adjusting entry at

December 31, 20X3. If so, then prepare the adjusting entry. If not, state the reason for not
accruing a liability.
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4. 5126700
Waorking from the bottom of the income sement, beginning with net income and adding
back the expenses until reaching operai
Step 1 Net mcome 71,000 + Income tax cxpense $47,000 = Income before taxes $11 Comparing SL and DDB Methods
Step 2: Income before taxcs $118,000 + Interest expense $8,700 = Oper. income $126,
N o
jrrerctngiis sl vt v ot Wl A
0 Siio00 Siiooo
| siom s suow | 10 5050 sus0
T o0 sioow s | w0 s sz
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= vy T —
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A. Dr. Insurance expense $2,000 ottt v S
Cr. Prepaid insurance $2,000
8,000 * 624 = $2,000.
B. Dr. Rent revenue receivable 5750
Cr. Rent revenue §750
C. Dr. Interest expense $500
Cr. Interest payable $500
525,000 * 6% * 4/12 = $500.
[ —
D. Dr. Uneamed rent revenue 51250 e s —Ty—ep——
Cr. Rent revenue $1,250 o e 320 . O T

$10,000 x 3/24 = $1,250. [r———ry

oo et R Sovxsaia- st
ek 3100k oot e
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Item 1:
Dr. Compensation expense
Cr. Accrued vacation liability

$28,000
528,000

Ttem 2: No accrual for this year because the rent s for the next year.
Ttem 3:

Dr. Warranty expense
Cr. Accrued warranty liability

$2,400
$2,400

Ttem 4: No accrual because a contingeney that s reasonably possible and reasonably
estimated need only be disclosed in the notes to the financial statements.
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